# Some new extensions on Hilbert's integral inequality and its applications

## SHI YANPING, MIHÁLY BENCZE and GAO MINGZHE

#### ABSTRACT.

We give some new extensions and refinements of Hilbert's integral inequality with parameters  $\lambda$  and  $\mu \left( 0 < \mu \leq 2, 0 < \frac{\mu}{\lambda} < 2 \right)$  by introducing a proper weight function. As applications, some extensions and strengthened results of Widder's theorem and Hardy- Littlewood's theorem are also given.

#### **1. INTRODUCTION AND LEMMAS**

Let  $f(x), g(x) \in L^2(0, +\infty)$ . It is all known that the inequality of the form

$$\int_{\alpha}^{\infty} \int_{\alpha}^{\infty} \frac{f(x)g(y)}{x+y-2\alpha} \mathrm{d}x \mathrm{d}y \le \pi \left\{ \int_{\alpha}^{\infty} f^2(x) \mathrm{d}x \right\}^{\frac{1}{2}} \left\{ \int_{\alpha}^{\infty} g^2(x) \mathrm{d}x \right\}^{\frac{1}{2}}$$
(1.1)

is called Hilbert's integral inequality, where the constant factor  $\pi$  is the best possible.

In the paper [6], by introducing a parameter  $\lambda \left(\lambda > \frac{1}{2}\right)$ , the extension of the form

$$\int_{0}^{\infty} \int_{0}^{\infty} \frac{f(x)g(y)}{x^{\lambda} + y^{\lambda}} \mathrm{d}x \mathrm{d}y \leq \left(\frac{\pi}{\lambda \sin\frac{\pi}{2\lambda}}\right) \left\{\int_{0}^{\infty} x^{1-\lambda} f^2(x) \mathrm{d}x\right\}^{\frac{1}{2}} \left\{\int_{0}^{\infty} x^{1-\lambda} g^2(x) \mathrm{d}x\right\}^{\frac{1}{2}} \tag{1.2}$$

was established.

Recently, various improvements and extensions of (1.1) appear in a great deal of papers (see [2]). The aim of this paper is to give some new extensions and improvements of (1.1) and (1.2) and then to give its some applications, and the method adopted by us has trait itself, it is different from those listed in the paper [2]. Explicitly, the idea and the results obtained possess new meanings.

 $\sim \sim$ 

In the sake of convenience, we define a function and introduce some notations. Let  $0 < \mu \le 2, 0 < \frac{\mu}{\lambda} < 2, x - \alpha \ge 0, y - \alpha \ge 0, c(x)$  be an integrable function in  $[0, +\infty)$ .

Define a binary function by  $E(x,y) = 1 - c(x - \alpha) + c(y - \alpha)$ , and we stipulate that  $E(x,y) \ge 0$  for  $(x,y) \in$  $(0, +\infty) \times (0, +\infty)$ . And we introduce also the following notations:

$$A_{1} = \int_{\alpha}^{\infty} \int_{\alpha}^{\infty} \frac{f^{2}(x)}{(x-\alpha)^{\lambda} + (y-\alpha)^{\lambda}} \left(\frac{x-\alpha}{y-\alpha}\right)^{1-\frac{\mu}{2}} E(x,y) \mathrm{d}x \mathrm{d}y$$
$$A_{2} = \int_{\alpha}^{\infty} \int_{\alpha}^{\infty} \frac{f^{2}(y)}{(x-\alpha)^{\lambda} + (y-\alpha)^{\lambda}} \left(\frac{y-\alpha}{x-\alpha}\right)^{1-\frac{\mu}{2}} E(x,y) \mathrm{d}x \mathrm{d}y$$

Throughout the paper we use frequently these notations.

In order to prove our assertion, we need the following lemmas.

**Lemma 1.1.** With the assumptions as the above-mentioned, then

$$A_1 A_2 = \left(\frac{\pi}{\lambda \sin(\frac{\mu\pi}{2\lambda})}\right)^2 \left\{ \left(\int_{\alpha}^{\infty} (x-\alpha)^{1-\lambda} f^2(x) \mathrm{d}x\right)^2 - \left(\int_{\alpha}^{\infty} k(x) f^2(x) \mathrm{d}x\right)^2 \right\}$$
(1.3)

where the weight function k(x) is defined by

$$k(x) = (x - \alpha)^{1-\lambda} \left\{ \left(\frac{\lambda \sin\frac{\mu\pi}{2\lambda}}{\pi}\right) \int_{0}^{\infty} \frac{c\left((x - \alpha)t\right)t^{\frac{\mu}{2}-1}}{1 + t^{\lambda}} dt - c(x - \alpha) \right\}.$$
(1.4)

Received: 21.01.2010; In revised form: 24.07.2010; Accepted: 15.08.2010.

<sup>2000</sup> Mathematics Subject Classification. 26D15.

Key words and phrases. Weight function, Hilbert's integral inequality, Schwarz's inequality, Widder's theorem, Hardy-Littlewood's theorem.

Proof. It is easy to deduce that

$$\begin{split} A_1 &= \int_{\alpha}^{\infty} \left\{ \int_{\alpha}^{\infty} \frac{1}{(x-\alpha)^{\lambda} (1+(\frac{y-\alpha}{x-\alpha})^{\lambda})} \left(\frac{x-\alpha}{y-\alpha}\right)^{1-\frac{\mu}{2}} E(x,y) \mathrm{d}y \right\} f^2(x) \mathrm{d}x \\ &= \int_{\alpha}^{\infty} \left\{ \int_{0}^{\infty} \frac{1}{1+t^{\lambda}} \left(\frac{1}{t}\right)^{1-\frac{\mu}{2}} (1-c(x-\alpha)+c((x-\alpha)t)) \mathrm{d}t \right\} (x-\alpha)^{1-\lambda} f^2(x) \mathrm{d}x \\ &= \int_{\alpha}^{\infty} \left\{ \frac{\pi}{\lambda \sin \frac{\mu\pi}{2\lambda}} + \int_{0}^{\infty} \frac{c((x-\alpha)t)}{1+t^{\lambda}} \left(\frac{1}{t}\right)^{1-\frac{\mu}{2}} \mathrm{d}t - \left(\frac{\pi}{\lambda \sin \frac{\mu\pi}{2\lambda}}\right) c(x-\alpha) \right\} (x-\alpha)^{1-\lambda} f^2(x) \mathrm{d}x \\ &= \left(\frac{\pi}{\lambda \sin \frac{\mu\pi}{2\lambda}}\right) \left\{ \int_{\alpha}^{\infty} (x-\alpha)^{1-\lambda} f^2(x) \mathrm{d}x + \int_{\alpha}^{\infty} k(x) f^2(x) \mathrm{d}x \right\}, \end{split}$$

where k(x) is a function defined by (1.4).

Similarly, we have  $A_2 = \left(\frac{\pi}{\lambda \sin \frac{\mu \pi}{2\lambda}}\right) \left\{ \int_{\alpha}^{\infty} (x-\alpha)^{1-\lambda} f^2(x) dx - \int_{\alpha}^{\infty} k(x) f^2(x) dx \right\}.$ It follows that the relation (1.3) holds

**Lemma 1.2.** Let  $0 < \mu \le 2, 0 < \frac{\mu}{\lambda} < 2$ . Then  $\int_{0}^{\infty} \frac{t^{\frac{\mu}{2}-1}}{(1+t^{\lambda})(1+(x-\alpha)^{\lambda}t^{\lambda})} dt = \begin{cases} \left(\frac{\pi}{\lambda\sin(\frac{\mu\pi}{2\lambda})}\right) \frac{(x-\alpha)^{\lambda-\frac{\mu}{2}}-1}{(x-\alpha)^{\lambda}-1}, & x-\alpha \neq 1, \\ \left(\frac{\pi}{\lambda\sin(\frac{\mu\pi}{2\lambda})}\right) \left(1-\frac{\mu}{2\lambda}\right), & x-\alpha = 1. \end{cases}$ 

*Proof.* When  $x - \alpha \neq 1$ , it has been given in the papers [5] and [8]. Let's consider the case  $x - \alpha = 1$ . By the definition and properties of beta function, it is easy to deduce that

$$\int_{0}^{\infty} \frac{t^{\frac{\mu}{2}-1}}{(1+t^{\lambda})^{2}} dt = \frac{1}{\lambda} B\left(\frac{\mu}{2\lambda}, 2-\frac{\mu}{2\lambda}\right) = \frac{1}{\lambda} \left(1-\frac{\mu}{2\lambda}\right) B\left(\frac{\mu}{2\lambda}, 1-\frac{\mu}{2\lambda}\right)$$
$$= \left(1-\frac{\mu}{2\lambda}\right) \frac{\pi}{\lambda \sin\frac{\mu\pi}{2\lambda}}.$$

## 2. MAIN RESULTS

In this section we shall prove our assertions with the help of the above lemmas.

Theorem 2.1. Let 
$$f(x)$$
 and  $g(x)$  be two real functions,  $0 < \mu \le 2$  and  $0 < \frac{\mu}{\lambda} < 2$ .  
If  $0 < \int_{\alpha}^{\infty} (x-\alpha)^{1-\lambda} f^2(x) dx < +\infty$  and  $0 < \int_{\alpha}^{\infty} (x-\alpha)^{1-\lambda} g^2(x) dx < +\infty$  then  
 $\left(\int_{\alpha}^{\infty} \int_{\alpha}^{\infty} \frac{f(x)g(y)}{(x-\alpha)^{\lambda} + (y-\alpha)^{\lambda}} dx dy\right)^4$   
 $\le \left(\frac{\pi}{\lambda \sin \frac{\mu\pi}{2\lambda}}\right)^4 \left\{ \left(\int_{\alpha}^{\infty} (x-\alpha)^{1-\lambda} f^2(x) dx\right)^2 - \left(\int_{\alpha}^{\infty} \tilde{\omega}(x) f^2(x) dx\right)^2 \right\}$   
 $\times \left\{ \left(\int_{\alpha}^{\infty} (x-\alpha)^{1-\lambda} g^2(x) dx\right)^2 - \left(\int_{\alpha}^{\infty} \tilde{\omega}(x) g^2(x) dx\right)^2 \right\}$ 
(2.5)

where the weight function  $\tilde{\omega}(x)$  is defined by

$$\tilde{\omega}(x) = \begin{cases} (x-\alpha)^{1-\lambda} \left\{ \frac{(x-\alpha)^{\lambda-\frac{\mu}{2}} - 1}{(x-\alpha)^{\lambda} - 1} - \frac{1}{1+(x-\alpha)^{\lambda}} \right\}, & x-\alpha \neq 1, \\ \frac{1}{2} - \frac{\mu}{2\lambda}, & x-\alpha = 1. \end{cases}$$
(2.6)

*Proof.* At first, suppose that f = g. Applying Schwarz's inequality we have

$$\begin{split} & \left(\int\limits_{\alpha}^{\infty}\int\limits_{\alpha}^{\infty}\frac{f(x)f(y)}{(x-\alpha)^{\lambda}+(y-\alpha)^{\lambda}}\mathrm{d}x\mathrm{d}y\right)^{2} = \left(\int\limits_{\alpha}^{\infty}\int\limits_{\alpha}^{\infty}\frac{f(x)f(y)}{(x-\alpha)^{\lambda}+(y-\alpha)^{\lambda}}E(x,y)\mathrm{d}x\mathrm{d}y\right)^{2} \\ &= \left(\int\limits_{\alpha}^{\infty}\int\limits_{\alpha}^{\infty}\left\{\frac{f(x)}{((x-\alpha)^{\lambda}+(y-\alpha)^{\lambda})^{1/2}}\left(\frac{x-\alpha}{y-\alpha}\right)^{\frac{1}{2}(1-\frac{\mu}{2})}(E(x,y))^{\frac{1}{2}}\right\} \\ & \times \left\{\frac{f(y)}{((x-\alpha)^{\lambda}+(y-\alpha)^{\lambda})^{1/2}}\left(\frac{y-\alpha}{x-\alpha}\right)^{\frac{1}{2}(1-\frac{\mu}{2})}(E(x,y))^{\frac{1}{2}}\right\}\mathrm{d}x\mathrm{d}y\right)^{2} \\ &\leq \int\limits_{\alpha}^{\infty}\int\limits_{\alpha}^{\infty}\left\{\frac{f^{2}(x)}{(x-\alpha)^{\lambda}+(y-\alpha)^{\lambda}}\left(\frac{x-\alpha}{y-\alpha}\right)^{(1-\frac{\mu}{2})}E(x,y)\right\}\mathrm{d}x\mathrm{d}y \\ & \times \int\limits_{\alpha}^{\infty}\int\limits_{\alpha}^{\infty}\left\{\frac{f^{2}(y)}{(x-\alpha)^{\lambda}+(y-\alpha)^{\lambda}}\left(\frac{y-\alpha}{x-\alpha}\right)^{(1-\frac{\mu}{2})}E(x,y)\right\}\mathrm{d}x\mathrm{d}y = A_{1}A_{2}. \end{split}$$

It follows from (1.3) that

$$\left(\int_{\alpha}^{\infty}\int_{\alpha}^{\infty}\frac{f(x)f(y)}{(x-\alpha)^{\lambda}+(y-\alpha)^{\lambda}}\mathrm{d}x\mathrm{d}y\right)^{2} \leq \left(\frac{\pi}{\lambda\sin(\frac{\mu\pi}{2\lambda})}\right)^{2}\left\{\left(\int_{\alpha}^{\infty}(x-\alpha)^{1-\lambda}f^{2}(x)\mathrm{d}x\right)^{2}-\left(\int_{\alpha}^{\infty}k(x)f^{2}(x)\mathrm{d}x\right)^{2}\right\},$$
(2.7)

where the weight function k(x) is defined by (1.4). Let  $c(x)=\frac{1}{1+x^{\lambda}}$ . It is obvious that  $E(x,y)\geq 0.$  It is easy to deduce that

$$k(x) = (x - \alpha)^{1-\lambda} \left\{ \left(\frac{\lambda \sin\frac{\mu\pi}{2\lambda}}{\pi}\right) \int_{0}^{\infty} \frac{c\left((x - \alpha)t\right)t^{\frac{\mu}{2}-1}}{1 + t^{\lambda}} dt - c(x - \alpha) \right\}$$
$$= (x - \alpha)^{1-\lambda} \left\{ \left(\frac{\lambda \sin\frac{\mu\pi}{2\lambda}}{\pi}\right) \int_{0}^{\infty} \frac{t^{\frac{\mu}{2}-1}}{(1 + t^{\lambda})\left(1 + (x - \alpha)^{\lambda}t^{\lambda}\right)} dt - c(x - \alpha) \right\}$$

It follows from Lemma 2.2 that  $k(x) = \tilde{\omega}(x)$ . So we have

$$\left(\int_{\alpha}^{\infty}\int_{\alpha}^{\infty}\frac{f(x)f(y)}{(x-\alpha)^{\lambda}+(y-\alpha)^{\lambda}}\mathrm{d}x\mathrm{d}y\right)^{2} \leq \left(\frac{\pi}{\lambda\sin\left(\frac{\mu\pi}{2\lambda}\right)}\right)^{2}\left\{\left(\int_{\alpha}^{\infty}(x-\alpha)^{1-\lambda}f^{2}(x)\mathrm{d}x\right)^{2}-\left(\int_{\alpha}^{\infty}\tilde{\omega}(x)f^{2}(x)\mathrm{d}x\right)^{2}\right\},\tag{2.8}$$

where  $\tilde{\omega}(x)$  is defined by (2.6). Hence the inequality (2.5) is valid.

Let's consider the case  $f \neq g$ . By Schwarz's inequality we have

$$\left(\int_{\alpha}^{\infty}\int_{\alpha}^{\infty}\frac{f(x) g(y)}{(x-\alpha)^{\lambda} + (y-\alpha)^{\lambda}} \mathrm{d}x \mathrm{d}y\right)^{4} \\
= \left\{\left(\int_{0}^{1}\left(\int_{\alpha}^{\infty}t^{(x-\alpha)^{\lambda} - \frac{1}{2}}f(x)\mathrm{d}x\int_{\alpha}^{\infty}t^{(y-\alpha)^{\lambda} - \frac{1}{2}}g(y)\mathrm{d}y\right)\mathrm{d}t\right)^{2}\right\}^{2} \\
\leq \left\{\int_{0}^{1}\left(\int_{\alpha}^{\infty}t^{(x-\alpha)^{\lambda} - \frac{1}{2}}f(x)\mathrm{d}x\right)^{2}\mathrm{d}t\right\}^{2}\left\{\int_{0}^{1}\left(\int_{\alpha}^{\infty}t^{(y-\alpha)^{\lambda} - \frac{1}{2}}g(y)\mathrm{d}y\right)^{2}\mathrm{d}t\right\}^{2} \\
= \left\{\int_{\alpha}^{\infty}\int_{\alpha}^{\infty}\frac{f(x) f(y)}{(x-\alpha)^{\lambda} + (y-\alpha)^{\lambda}}\mathrm{d}x\mathrm{d}y\right\}^{2}\left\{\int_{\alpha}^{\infty}\int_{\alpha}^{\infty}\frac{g(x) g(y)}{(x-\alpha)^{\lambda} + (y-\alpha)^{\lambda}}\mathrm{d}x\mathrm{d}y\right\}^{2}.$$
(2.9)

Based on (2.8), it follows from (2.9) that the inequality (2.5) is valid at once. Theorem is proved.

When  $\lambda = 1$  and  $\mu = 1$ , based on (2.5), the following result is obtained.

Theorem 2.2. If 
$$0 < \int_{\alpha}^{\infty} f^{2}(x) dx < +\infty$$
 and  $0 < \int_{\alpha}^{\infty} g^{2}(x) dx < +\infty$  then  

$$\left(\int_{\alpha}^{\infty} \int_{\alpha}^{\infty} \frac{f(x)g(y)}{x+y-2\alpha} dx dy\right)^{4} \le \pi^{4} \left\{ \left(\int_{\alpha}^{\infty} f^{2}(x) dx\right)^{2} - \left(\int_{\alpha}^{\infty} \omega(x) f^{2}(x) dx\right)^{2} \right\} \times \left\{ \left(\int_{\alpha}^{\infty} g^{2}(x) dx\right)^{2} - \left(\int_{\alpha}^{\infty} \omega(x) g^{2}(x) dx\right)^{2} \right\},$$
(2.10)

where the weight function  $\omega(x)$  is defined by

$$\omega(x) = \frac{1}{\sqrt{x - \alpha} + 1} - \frac{1}{x - \alpha + 1}.$$
(2.11)

*Proof.* It is known from (2.6) that  $\tilde{\omega}(x)$  can be reduced to  $\omega(x)$ , when  $\lambda = \mu = 1$ . Hence the inequality (2.10) is valid.

**Corollary 2.1.** With the assumption as Theorem 2.2 and f = g then

$$\left(\int_{\alpha}^{\infty}\int_{\alpha}^{\infty}\frac{f(x)f(y)}{x+y-2\alpha}\mathrm{d}x\mathrm{d}y\right)^{2} \leq \pi^{2}\left\{\left(\int_{\alpha}^{\infty}f^{2}(x)\mathrm{d}x\right)^{2} - \left(\int_{\alpha}^{\infty}\omega(x)f^{2}(x)\mathrm{d}x\right)^{2}\right\},\tag{2.12}$$

where the weight function  $\omega(x)$  is defined by (2.11).

When c(x) = constant, we have  $k(x) = \tilde{\omega}(x) = 0$ . If  $\alpha = 0$  and  $\mu = 1$ , then the inequality (2.5) can be reduced to the inequality (1.2). Similarly, when  $c(x - \alpha) = \text{constant}$ , we have  $\omega(x) = 0$ , the inequality (2.10) is reduced to the inequality (2.5).

### 3. APPLICATIONS

As applications, in this section we will give some extensions and refinements of Widder's theorem and Hardy-Littlewood's theorem.

Let 
$$a_n \ge 0$$
  $(n = 0, 1, 2, ...)$ ,  $A(x) = \sum_{n=0}^{\infty} a_n x^n$ ,  $A^*(x) = \sum_{n=0}^{\infty} \frac{a_n x^n}{n!}$ . Then  

$$\int_0^1 A^2(x) dx \le \pi \int_0^\infty (e^{-x} A^*(x))^2 dx.$$
(3.13)

This is Widder's theorem (see [7]).

We shall give an extension and a refinement of (3.13) as following.

**Theorem 3.3.** With the assumptions as the above-mentioned, if  $f(x) = e^{-(x-\alpha)}A^*(x-\alpha)$ , then

$$\left(\int_{0}^{1} A^{2}(x) \mathrm{d}x\right)^{2} \leq \pi^{2} \left\{ \left(\int_{0}^{\infty} f^{2}(x) \mathrm{d}x\right)^{2} - \left(\int_{0}^{\infty} \omega(x) f^{2}(x) \mathrm{d}x\right)^{2} \right\},\tag{3.14}$$

where  $\omega(x)$  is defined by (2.11).

*Proof.* At first we have the following relation:

$$\int_{0}^{\infty} e^{-t} A^{*}(tx) dt = \int_{0}^{\infty} e^{-t} \sum_{n=0}^{\infty} \frac{a_{n}(xt)^{n}}{n!} dt = \sum_{n=0}^{\infty} \frac{a_{n}x^{n}}{n!} \int_{0}^{\infty} t^{n} e^{-t} dt$$
$$= \sum_{n=0}^{\infty} a_{n}x^{n} = A(x).$$

Let  $tx = s - \alpha$ . Then we have

$$\int_{0}^{1} A^{2}(x) \mathrm{d}x = \int_{0}^{1} \left\{ \int_{0}^{\infty} e^{-t} A^{*}(tx) \mathrm{d}t \right\}^{2} \mathrm{d}x = \int_{0}^{1} \left( \int_{\alpha}^{\infty} e^{-\frac{s-\alpha}{x}} A^{*}(s-\alpha) \mathrm{d}s \right)^{2} \frac{1}{x^{2}} \mathrm{d}x$$
$$= \int_{1}^{\infty} \left( \int_{\alpha}^{\infty} e^{-(s-\alpha)y} A^{*}(s-\alpha) \mathrm{d}s \right)^{2} \mathrm{d}y$$

Some new extensions on Hilbert's integral inequality and its applications

$$= \int_{0}^{\infty} \left( \int_{\alpha}^{\infty} e^{-(s-\alpha)u - (s-\alpha)} A^{*}(s-\alpha) ds \right)^{2} du$$
$$= \int_{0}^{\infty} \left( \int_{\alpha}^{\infty} e^{-(s-\alpha)u} f(s) ds \right)^{2} du = \int_{\alpha}^{\infty} \int_{\alpha}^{\infty} \frac{f(s)f(t)}{s+t-2\alpha} ds dt,$$
(3.15)

where  $f(x) = e^{-(x-\alpha)}A^*(x-\alpha)$ . Using Corollary 2.1, the inequality (3.14) follows from (3.15) at once.

Let 
$$f(x) \in L^2(0, 1)$$
. If  $a_n = \int_0^1 x^n f(x) dx$ ,  $n = 0, 1, 2, \cdots$ , then we have the Hardy-Littlewood's inequality (see

[4]) of the form

$$\sum_{n=0}^{\infty} a_n^2 \le \pi \int_0^1 f^2(x) \mathrm{d}x,$$
(3.16)

where  $\pi$  is the best constant that keeps (3.16) valid. In our previous paper [1], the inequality (3.16) was extended and established the following inequality:

$$\int_{0}^{\infty} f^{2}(x) \mathrm{d}x \le \pi \int_{0}^{1} h^{2}(x) \mathrm{d}x,$$
(3.17)

where  $f(x) = \int_{0}^{1} t^{x} h(x) dx \ x \in [0, +\infty).$ 

The inequality (3.17) is called the Hardy-Littlewood integral inequality. Afterwards the inequality (3.17) was refined into the following form (see [3]):

$$\int_{0}^{\infty} f^{2}(x) \mathrm{d}x \le \pi \int_{0}^{1} t \ h^{2}(t) \mathrm{d}t.$$
(3.18)

1

We will extend and further refine the inequality (3.18) here.

**Theorem 3.4.** Let 
$$0 < \mu \le 2, 0 < \frac{\mu}{\lambda} < 2, h(t) \in L^2(0, 1)$$
 and  $h(t) \ne 0$ . Define a function by  $f(x) = \int_0^1 t^{(x-\alpha)^{\lambda}} |h(t)| dt$ . If  $+\infty$ 

$$0 < \int_{\alpha} (x-\alpha)^{1-\lambda} f^{2}(x) dx < +\infty, then$$

$$\left(\int_{\alpha}^{\infty} f^{2}(x) dx\right)^{4} \le \left(\frac{\pi}{\lambda \sin\left(\frac{\mu\pi}{2\lambda}\right)}\right)^{2} \left\{ \left(\int_{\alpha}^{\infty} (x-\alpha)^{1-\lambda} f^{2}(x) dx\right)^{2} - \left(\int_{\alpha}^{\infty} \tilde{\omega}(x) f^{2}(x) dx\right)^{2} \right\} \left(\int_{0}^{1} t h^{2}(t) dt\right)^{2},$$
(3.19)

where the weight function  $\tilde{\omega}(x)$  is defined by (2.6).

*Proof.* Let us write  $f^2(x)$  in form:

$$f^{2}(x) = \int_{0}^{1} f(x)t^{(x-\alpha)^{\lambda}} |h(t)| \,\mathrm{d}t.$$

Applying Schwarz's inequality, we have

$$\left(\int_{\alpha}^{+\infty} f^2(x) \mathrm{d}x\right)^4 = \left\{\int_{\alpha}^{\infty} \left(\int_{0}^{1} f(x) t^{(x-\alpha)^{\lambda}} |h(t)| \,\mathrm{d}t\right) \mathrm{d}x\right\}^4$$
$$= \left\{\int_{0}^{1} \left(\int_{\alpha}^{+\infty} f(x) t^{(x-\alpha)^{\lambda} - \frac{1}{2}} \mathrm{d}x\right) t^{\frac{1}{2}} |h(t)| \,\mathrm{d}t\right\}^4$$

231

S. Yanping, M. Bencze and G. Mingzhe

$$\leq \left\{ \int_{0}^{1} \left( \int_{\alpha}^{+\infty} f(x)t^{(x-\alpha)^{\lambda}} - \frac{1}{2} \mathrm{d}x \right)^{2} \mathrm{d}t \int_{0}^{1} t h^{2}(t) \mathrm{d}t \right\}^{2}$$
$$= \left\{ \int_{0}^{1} \left( \int_{\alpha}^{+\infty} \int_{\alpha}^{+\infty} f(x)f(y)t^{(x-\alpha)^{\lambda}} + (y-\alpha)^{\lambda-1} \mathrm{d}x \mathrm{d}y \right) \mathrm{d}t \int_{0}^{1} t h^{2}(t) \mathrm{d}t \right\}^{2}$$
$$= \left( \int_{\alpha}^{+\infty} \int_{\alpha}^{+\infty} \frac{f(x)f(y)}{(x-\alpha)^{\lambda}} \mathrm{d}x \mathrm{d}y \right)^{2} \left( \int_{0}^{1} t h^{2}(t) \mathrm{d}t \right)^{2}.$$
(3.20)

By (2.8), the inequality (3.19) follows from (3.20) at once.

#### REFERENCES

- [1] Gao, M. Z., On Hilbert's Inequality and Its Applications, J. Math. Anal. Appl. 212 (1997), No. 1, 316-323
- [2] Gao, M. Z. and Hsu, L. C., A Survey of Various Refinements And Generalizations of Hilbert's Inequalities, J. Math. Res. & Exp. 25 (2005), No. 2, 327-343
- [3] Gao, M. Z., Tan, L. and Debnath, L., Some improvements on Hilbert's integral inequality, J. Math. Anal. Appl., 229 (1999), No. 2, 682-689
- [4] Hardy, G. H, Littlewood, J. E. and Polya, G, Inequalities. Cambridge: Cambridge Univ. Press, 1952
- [5] Jin, Y. M., Table of Applied Integrals, Hefei, University of Science and Technology of China Press, 2006
- [6] Kuang, J. C., Applied Inequalities, 3nd. ed., Jinan, Shandong Science and Technology Press, 2004
- [7] Widder, O. V., An inequality related to Hilbert's inequalities, J. London Math. Soc. 4 (1924), 194-198
- [8] Zwillinger, D., Standard Mathematical Tables and Formulae, CRC Press, 1988

DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE NORMAL COLLEGE OF JISHOU UNIVERSITY, JISHOU HUNAN, 416000, P. R. CHINA *E-mail address*: mingzhegao@163.com *E-mail address*: jdsysyp1978@163.com

HĂRMANULUI 6, 505600 SĂCELE, ROMANIA *E-mail address*: benczemihaly@gmail.com